
Student A
This student’s argument was categorized as High Quality.

Student A’s claim is that all of the fractions shown are equivalent 
to the corresponding fractions shown in the diagrams.  Student A 
uses the multiplicative identity (multiplying by a form of 1) to show 
that 3/6 is equal to 9/18.  The response generalizes why 
multiplying by a form of 1 results in an equivalent fraction.  

Argumentation Components 

Claim Evidence

Implicit claim: all of the fractions 
shown in each part are 
equivalent 

- 3/6 x 3/3 = 9/18
and
- Given solutions

Warrants Language & Computation

One way is to multiply by a form 
of 1.  3/3 is a form of 1.  When 
you multiply by 1 the value stays 
the same.

The mathematical language used is 
precise and ideas flow clearly. 
Computations are correct.

Commentary



Student B
This student’s argument was categorized as Adequate Quality.

Student B’s claim is that all of the fractions shown are equivalent 
to the corresponding fractions shown in the diagrams.  Student B  
states that by multiplying by forms of 1, equivalent fractions are 
formed.  However, the response does not explain why multiplying 
by a form of 1 results in an equivalent fraction.  The argument 
could be strengthened by supporting the statement 
“multiplication by a form of 1” explaining that this multiplication 
does not change the value of the fractions (multiplicative 
identity).  

Argumentation Components 

Claim Evidence

Implicit claim: all of the fractions 
shown in each part are 
equivalent 

Given solutions

Warrants Language & Computation

(See written explanation at 
bottom of student’s work)

The mathematical language used is 
precise. Computations are correct.

Commentary



Student C
This student’s argument was categorized as Low Quality.

Student C’s claim is that all of the fractions shown are equivalent 
to the corresponding fractions shown in the diagrams.  Student C  
only states that  multiplying by 2/2 generates equivalent fractions. 
However, no support is given for why this approach is viable. 

The argument would be strengthened by explaining that 2/2 is a 
form of 1 and therefore it can be used to find equivalent fractions. 
The argument should also contain an explanation for why 
multiplying by a form of 1 results in an equivalent fraction.  

Argumentation Components 

Claim Evidence

Implicit claim: all of the fractions 
shown in each part are 
equivalent 

Given solutions

Warrants Language & Computation

(See written text at bottom of 
student’s work)

The mathematical language used is 
precise. Computations are correct.

Commentary



Rubric



Key Connecting Sorting Packet to 
Argumentation Resource Packet

Student 
number
(Soring Packet)

Resource
Packet Sample

1 C

2 B

3 A

4

5

6

7

8

9

Student 
number

(Soring Packet)

Resource
Packet Sample
(category)

3 A (high)

2 B (adequate)

1 C (low)

D (  )

E (  )

F (  )

G (  )

H (  )

I (  )




